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Total No. of Questions: 71 Tola?ﬁo?‘z:‘r’med P?;:s; :%
(2 2 45 fie) ol
[Time: 2 Hours 45 Minutes) (Full Marks: 80)
wrirat # ford Adn-
Instructions ftor the candidates:

t @il gy ep o) wat B @ awe @)

Candates are required 1o give their answers in their own words as lar as practicable
2 TR SR e w R 5T SF quin PR g 2y
Figures in the nght hand margin indicale lull marks

I W Y & gy 0z B Ry 15 Bae a1 dfRw ww R o @)

15 Minutes of exira time has been allofted for the candidates 1o read the queslions carelully.
4 TFUS-NIG AT FE q -y wT -7 )

This question paper is divided into lwo sections - Section - A and Seglion - B

5 s -3H 40 g g & ol o afad & (wde @ R 1 aE Bt &) s gew
GYTel B T OMR- TV @F@ 4 [R5 miowd) ga @ @id /B a0 B owdy
Rt f wer @ FrFETR/ AV YT /&S, TGT IR I g gRawr 4 g@r svar
T & SR wien aRm s ghr)

in Section - A, there are 40 objective lype questions which are compulsory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the corect option on OMR Answer Sheet provided 10 you.
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the resuilt will be Invalid,
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4 s :’ W m n[da‘l 3
AR wil :I J s“’ IJ

xE i 3)
} : L L]
T & =7 5 o (0. 108) & e 7 N
‘ o 2 o= F GO
IR Rert # 5 6 tvr (@810 0.13) & A 5 R

FT FIEV v 21

- ‘ gl I G &/
Sriyres & FH 3 O (0.16 10 Q.18) & e & R 2
yury J 3
=7 FT Oalv &/
T 49T 5 v 102110 0.25) 2 Pt ot B 3 ue

23 T TN <
VIV O ) 77 ¢ T 02810 030 & S A PR 2 o

Fr W OFT i

72 &y

T 3 8 07 JINT T (.6, 0.7, 0.14, 0.15, Q.19, 0.20, 0.26 and 0.27) 2
I &R 4 3w Pt ¢ ) s A s am‘rm-‘f va ymd 7 vE- o
B AT v v
In Section - g

72y

lhmenmmmnmmmqwlﬂm of 5 subjects under Soclal Science (each
Carrying 2 Mmarks) as below:

which any 3 questions are 1o be answered.

Q.13). out of which any 2 questions are o be answered

Economics nas 3 questions (Q.16 10 0.18) oy of

Apart trom tius, there are g Long Answer Type qu

Q.27). Each camying 4 marks, Oyt of eight questions answer 4 Selecrmg

ore each from History, Political
Science. Economics ang Geography.

7 mﬁm#mmmmmaﬁaéz
Use ol any electronic applances is Sinctly profibited.
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mug -3/ SECTION-A
aaejfrs_uTt /Objective Type Questions
40 b @ kD UT B A A ey Ry e & e @ v T8

2

=4
) o) IV & OMR - e w AR a1 (40x1 0)
HO | '
i . 110 A0 have four optiony, aul of which only one is correct. You have to mark, your selected

{’Hrm'mt Nk . r—
aptia ¥ the VIR~ Sheet.

gferdt, e o R, ek VT It A )
History. (ie0R? aphy, Politlc al Science, Economics and Disaster Management.
TR L0 U R AR IR a7

(A 1845 (M 1400

(Cy o 1915 (M 1916

In which year did Gandhi §i establish the Saharmati Ashram?

(\) (RO () 19()
(Cy WIS () 1916
p A malraammmmwm?
(A) 1 SR 2000 () 9 TIER 2000
(Cre 15 TR 2000 : My 15 TR 2001

When was Jharkhand state fourmed -

(A) | November 2000 1)) 9 November 2000
(C) o 15 November 200K) (D) 15 November 2001

3. # e R s S o -
(A) 1934 ¥ B —
(C)e 1987 W ™ 1990 3

The most devastating earthquake in India occurred in -
(A) 1934 (B) 1948
() 1967 (1)) 1990

121 1] F Page 3ol 16




ort M PR L L Y R A (N S ) e Gean {7
1 22 i

’ XD w1 A o 1 TP LG B
TR ML B tm e gantane o8
Whie li patty gt aae lear magonty 1o the 1977 Lok Sahha clection’
(A Mhteya Janta Paity th Janta Pary
TN Hhastiva Rashitnya Congress t Rhartiva Conmunist Party
i, am A1 aanien g 17
(A 20l TNy 7T (" HUEEIIEER B
() o g imm THEPT WA
Whet B et thie Brahino Sansy?
(A) Kispa Iam Mohan Roy (" Dayanand Saraswal
TN Visehanamba (M Ramuhnshna Paramhansa
1. e AR anaa £ e 9 4 ?
(Al o 'RAS (B 1890
() 1695 m 1900
When was the Infian National Congress established?
(\) INKS () 1890
1) IK9S 1] 19X)
12, fuafaftag A A a¥a m gemm e g smafka e &2
(A) YN axd (B o dnfe
() e M » e
Which industry i not based on agriculiure?
(A) Cotton ¢loth (B) Cement
€y  Sugar M Jue
13, A e A aEiae arared spdwen @ -
(A) W SR T B) N 3T T
(€)W E D) « = IWE g[A
Bangladeshi economist honoured with Nobel Prize is-
(A) Prul. lgbal Yunus (B) Md. Iqbal Yunus
(€)  Prof. Md. Yunus (D) Md. Shafik Yunus

[211] F Paae 5ol 1%



pfvs ST
T ¢ A ® o (111 ena
(A) sraARats i yrm
«© il Jisastet :
» of these iv not s sl 4
which of these 12 (" Teunam
'm
(A) Temee (n Farthguake
() Floed
—t T
20, FTE I ; (W) 1089
(A 1888 (- 1991
() 1090 "
Jawahar Rozgar yujana was implemer " (m 1989
(A) JOSK
190 T L
21 nmrpﬁtﬁvgamt-
A) o 5T 1] e
) ¥ (mn gan 1 704
\What are the key components of humah capital?
(A)  Knowledge (" Skill
(0 Expenence (N All of these
9. wwa ¥ R T s ®
(A) ¢ W (B)y 19
w2 (D) 27
How many Nationalized banks are there in India”
Ay 4 (B 19
< 2 (” 27
2. Rrof T Swa @ a T 3 i o
(A) R (B) o TATIA
© R o Bgo
The Lichchhavi Republic was located in which state of India?
(A)  Bihar (B)  Rajsthan
(C)  Maharashtra (D) Tnpura

e ——————
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@M 2N W arT
*‘nﬁ:xaﬂnm AT M WH A IR - Q- ¥R @ R & P a@ms &
A Y] .
L
(A) e v00 2 4 B By 25 1w e
)

ki M 2 | Liboreny
Uimler NREGA, what i the provision of minimum number of days of employment for rurs

M vear

(A)

For Hl'lduy,\ i For 125 dﬂ}‘\
€ 1500 days (M For 200 days .
R - e s wro, @ T T g
AV yegp B, 1903
<y 1994 m 1995
When the worlg Trade Organization was founded -
(\) 1992 i} 1993
(Cy 1994 (M 1995
b T W ader vy TR W m?
(\) ﬂ.‘ﬁ M o FTH
(C) T3 th L
Whao was the “Sick man of Europe™?
(A Turkey m Ttaly
(&) England m France
7. Tﬁﬂ&ﬁhﬁﬁ’ﬂﬂ%?’
A\, pn R ey
() ar M IRRw
Mandar Hill iy situnted n which districy?
(\) Munger (B) Bhagalpur
(C) Bunka ( Buxar
B Ra @R ﬁmmuﬁmmﬁrfﬂwmmﬁaﬁmﬁ
(AY 2004 (B) 2008
(C) e 2008 1)]) 2007
When the government of India passed the “Right to Information Act™?
(A) I (B 2005
(©) 2006 o 2007
[2 | 1] F Paged ol 16
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AL D T P IW T2zymy #

LU LTI A

I e i RS
The l‘igrhi P of Indrang -
AV Mumbg B Chenn
€« Kala M Kandla

15, T&gaima Ray 3 gamea R o tyg?
A e g (| TR A e
)y . TATER g 111 ateagan st
Whe staned the Pabbication of the “Hindustan Res ew”*
\y Rgm_;kn\hm \':r“u i Sn Knshny Sin th
() Mazhanl Haque 4] Sachdanand Ninp,

16, geo B ntam g I A AW v http:s',-’www.bschsmdy.com
AV A ma g fav W ¥ - oo g farm
© s w5 fam L o I R X fan
The PUTpOse 10 buily Golghar in Patna way-
(A) T keep the wildien (B To keep the Arms and ammunityon,
Ky 1 Leep grains M To wotship

17. Jyrnn WG ¢ -
A @R 7 g By Hrwe r
© wwh e forg LU G S
Nepanagar is famous for -
(A) Sugar (B) Cement
(€ News print paper D Cotton tevtiles

18. ﬂmmmamwfa-zmp
A mw o (] TR o g o
€ wmFge m  ux
What is the election symbol of he Bhaniya Jamy pany?
(A) Hand paw (B) Lotus Nower
(C) Mariguly 1] Wheel

[B1F
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L LTI TEREE A TUNUR A IR nd

fate
Y ‘et i

uxl
. TR
" L1 USR] l"'

| ‘ot ipdpnhed !
h wih s Cill W s -
LTSRS Pt tmationd b alsony O pamratt

LA i ‘) (RILY
L T, a2
AL | Y R Voot e W) edean Pl @7
L LI ( o)
"y 6 i 0?
T WA Wamen b e anhe 16% Lok Sabha !
LAY 6l i 0
L oy im o7
TN A g R ars aw a2
(A) gs¢d (e
() Whd e
Which ot i Bl g by oy toreagn b
(A) Hy iy (m Toyota
L& Fowd (M, TATA
ARG gt o -
(A) FUEh it M gy
(C) M N lDl, martan 8§
Highest rmtall oveurs in -
(A) Pumia (m Cherrapunyi
(C) Kochi M Mawsviram
TR FAEN I W kT @ &7
(A)  um R
LB E E

(C) o WG
Who s the head of the village hutchery?
(B) Sarpanch

(A) Panch
(m Justice fnend

() Pramulh
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PR O I LS A Y B2 BT alent] o g4I “; UL | 190 wiiwre) P e sl ' B

(A} M2 (111 tAntee s
() MEnen s i it d gig e

“Demmnriany s ol the people, o the prevple amld hy the people

(A) Arsnak () Cieemge Woaslunpnen
18] Abrabam Lincoln i (FEDRETE
Faniat 1 sfrente fh gee ey
1A) o 1 111 PR
(i o

) LB

In winch country the mvention of papet toab place’

(A China 1] Giertnany

(C) Japan (m Rome

WARd A @ e fra ad ean?

(A) 2012 (111] 2013

Cr o 2014 (1 }]] 2015

In which year the election ol the 16™ Lok Sabha was held?
Ay 0012 (8 2013

() 014 () 2018

A &m 3 sfduer fawE faa en?
(A) T (B) oA predie

) g 28 M ¢ A3 &

Wha invented safety lamp?
(A) Crompton (1 James Hargreaves

(C)  Humphry Davy M John K

WO bprane atateranse i b Myss
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l\l. Moy 11]]
WwH gy LTE i
Wha o " TTTITR ol 'y (T | LTS
A Marony i
W) Viewa ) g | i
M g N avy gy N oy ANURTFTTY
\) AT RTPR ! 1]
e ¢ N ey h iy
Wiy MBI e gy gl Mitgen Natlongl Wighway
(A\) Wihiway ] ()
"y lllglmu\ TR i
Mg e

Wit

Ahah

||tll| Al

aanilaki

Musaeling

T T

o anp oy

Wighway ne )
Mighway me 7

i\) o W g, |\‘1'E

(m
€ a w1y

1]
Mk, SULETS Stlalsle gy

A) Cotiog

7] Lihy
([ ) Whew

(n Mille
Y. a1 LT T TR TR (B
) g ge LTI
Ty faeng 1 e ay

Pulse i the M o which nuttioy?

\) Carbahy dhate W Muem

(1T lat

(") Vitamun )

—

AN o Loy

LR B

3

!
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"
AL (LT I TOAT ¢ i THL
L Ih b e bt 11
W hnn thee Ehaniiinng & vmpanipsspon s e o ohibihistased b B hia'!
1\ P N b 1Y i ¥ "o g T
i (RN N TY E N MR i oo i
W, e ol an et g e
AN o i m
th h:te

) i

Wl Wity ool Mare biup*
i AR

(Al Chtiiany
i1h Volared

TN Pawim e

W, Mot sl AN i
1A) 4 0 " TR
geeql e 12 N

(' e vl e el qen tn tal

Brass is e ol

Ay Copper () /i

() Copper omd Zan n Copgues. Zine and Tin

40, gl @ e M urlne a1 B2

(A)  uphae Au i ¢ Nt

i Nga (n A1)
Which o these bs ot the primary encigy’

(A) Natural gas (8 Petroleum

€ Eleancity i Conal

21 e i
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ILENRY_fagns / Political Science
, 13 Y g fig wrt &1 Fa & 16l 2 G100 & que ¥ wdw @ fae 2 s

paitn &1 ey
o S0 13 i« short answer (ype. Auswer any 2 questions. Each question carries 2

“"'"ﬁ N
> (2%2=4)

rks. . e
::-'ﬂ?& FauTa greaied & & fare wra Jar Y 2

ieee ) .
il sog O 10 promole communal harmony-.
What : (2)

. 39
Wﬂsrdﬁﬁa‘ﬁ'mmma
(he main nhjectives of Chipko Movenient?

£ fredl @ FEEm auiT @
tan Democricy.

grt T

What are R
wrrde @3
Deseribe four problems of Ind
i rrqay o fr e &7 2
What is secular state?

werdl g @ & 2
What is concurrent list?

mﬁfﬁﬁmﬂmﬁmﬁﬂwil -
Suggest two measures (0 make pahitical parties more elfective.

&4 wadw w¥i/Long Answer Type Questions
v w14 o 15 O aada wvT &1 g @ Rl ow @1 v @) fax1=4)

one of the
(Ixl=4)

Questions No. 14 and IS are Long ‘Answer Type questions. Answer any
Jollowing.
apzfaem & fFE TR el & o | L]

Write any four causes of Communalism.

mmm#'mmml )

Wnie i
main lunctions of Political Parties,

Page 130l 16



arfere / Economics |
M:MQ}W?IW#M;
o=y

gy weAr 16 A 18 oy Tada @ @) g7 @

o futila &1
jons, Euch questi
Question No. 16 ta 18 is short aiswer t5pe. Auswer auy 2 questions. Euch QUESon carries

2 marks, 2x2=)
16, it ARTRYA RN T am Wl (2
Wit is the smportance ol cconomie infrasinnture? .
17, it 8 o g s (2
Whkat o yomn anean by eooperative !
K, SONFGE & ey F A A3 AT E 2
What e the differen ways by which consuien get evploited !
&1l Serda 9w/ Long Answer Type Questions
v w19 3 20 & wrda wer &) g @ Rl E @ G ) fxs=4)
Questions No. 19 and 20 are long Answer Type questions. Answer any one of the
, following.  http://www.bsebstudy.com (4x1=4)
19. R d@ sof Mo & ERe @? i)

Wt are the teasnns or econonne hackwasdness of Bihw?

20, 49 A Rer w ud i & aeEnd | 4

Explam the effects of glotalization on Biliar,

2111 F Page 14 of 16
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2,

Wil / Gooaraphy
Gt 2 W28 Ay I et @8 g At 3 ued @ e @) wed
| Ui & fyy 3

e it &1 s
o i N 210 25 is xhort auswer tvpe. Answer any 3 guestions. Each question carres
m::h.ammiﬁ i1 AR A e e o 2
gl
\\’:)' o the lm--.cn-uliuu ol natpral resourees nevessary”
U & arad A g 4 yttig 1t7 o
Why i Mahm.qhml famuous Jor the production ol cotton?
g W1 ET D A sl anl &7 2
Why is pclmlcum mare impertan than coal?
scipi] @ wguw $) Hel &7 (21
How does pollution spread from industries?
mﬁmmrimamma? (2)
What is the importance of water ways for India? .
o gaéia u¥ /Long Answer Type Questions
fax1=4)

7 WS 26 3N 27 ﬂ#aaﬂvmmﬁ##mwwama‘v
g Answer Type questions. Answer any one of the

Questions No. 26 and 27 are Lon
(Ix]=)

Jollowing. ‘
4

%, srfaren W@ - FT & W @ v

n,
il ¥ e ) sl @1 vt R

[211“:\

Dcwrih . . i@
the effects of mining activity on the economy.
L)

Describe the .
characteristics of Indian Rail Transport.

‘ Page 150! 16
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T9TT WAEF / Disaster Management

wﬂm?"’“'W“ﬁ”m@fm#mw:msmf:mxm:

N &1

(2=4)

Question No. 28 1o 3 iv short answer type. Auswer any 2 questions. Each question carries

S marrka.

Fman 9 ST e @?

W Dt sl sou mrean sy Disaster?

1o o sl Al Raeen )

Discuss the damages caused by (.,

ST AT F DER T SuE @ Ieda TR
Mention ary two measures for salety from carthguake.
TTE A A @ IS W 36T

Mention the measure for satety from Tsunimi.

(2x2=4)

(2)

(2)



g -4/ SECTION-8

A4 nege Wet 7 Non - Oblective Type Questions

dY vty wee /S SJQLIAJmLJM_QmM

gl / History

UM oz y @ g o itz unt @7 g o Rl 3 el & O

’ 'hc‘”l‘ﬂ ‘ !

Queriton S, | 10!
marda
Looowee am) @ oamam o

$ iv st anawer (ype. Answer any 3 questions, Fach qu

W Bt b vess qieadn By Oh ol Revolotum!

te

Nhat was the resultof the Cinal Disoledience Movement”?

1A Mg BN ]  uie gl

A w00 g 6 1) Q) e Bt Y

ENriine any twarcanses of the Fint Workd War,

4. My e 1A aga &7
W hat s was k) market !

S umgan e ¢ g an auntam @2

Wbt is manuscript What s ats utilny

(3x2=5)
estion carries )
(Ix2=6)

Q 3udy ¥/ Long Answer Type Questions

vri w6 e r i godla wrr &) g A AR vE 1 I 2 (4x1=4)

Questions No. 6 and 7 are long Answer Type questions, Answer any one of the

Jollowing,

6. ¥ & e va auefkia ue gam SR |

Thiow Trght on the hife and acluevements of Lenis,

7. i ga @ e @ feled |

Waite the characteristics of the Indian Press.

(Ixl=d)

Q2

Q

(q
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